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Repetition for H2O2 sensors
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Figure S1. Characterization of the sensor for the detection of H2O2. First repetition. (a) Current vs. time signal response curve to different concentrations of H2O2, C1: 0.1 mM, C2: 0.2 mM, C3: 0.2 mM. C4: 0.5 mM, C5: 1.0 mM, C6: 1.0 mM, C7: 1.0 mM, C8: 1.0 mM, C9: 1.0 mM (b) Calibration curve for the detection of H2O2.

[image: ]
Figure S2. Characterization of the sensor for the detection of H2O2. Second repetition. (a) Current vs. time signal response curve to different concentrations of H2O2, C1: 0.1 mM, C2: 0.2 mM, C3: 0.2 mM. C4: 0.5 mM, C5: 1.0 mM, C6: 1.0 mM, C7: 1.0 mM, C8: 1.0 mM, C9: 1.0 mM, C10: 2.0 mM; (b) Calibration curve for the detection of H2O2.


Repetition for glucose sensors
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Figure S3. Characterization of the glucose oxidase-immobilized sensor for the detection of glucose. First repetition. (a) Current vs. time signal response curve to different concentrations of glucose, C1: 0.1 mM, C2: 0.2 mM, C3: 0.2 mM. C4: 0.5 mM, C5: 1.0 mM, C6: 1.0 mM, C7: 1.0 mM, C8: 1.0 mM, C9: 1.0 mM, C10: 9.4 mM (b) Calibration curve for the detection of glucose.
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Figure S4. Characterization of the glucose oxidase-immobilized sensor for the detection of glucose. Second repetition. (a) Current vs. time signal response curve to different concentrations of glucose, C1: 0.1 mM, C2: 0.2 mM, C3: 0.2 mM. C4: 0.5 mM, C5: 1.0 mM, C6: 1.0 mM, C7: 1.0 mM, C8: 1.0 mM, C9: 1.0 mM, C10: 9.4 mM (b) Calibration curve for the detection of glucose.
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Figure S5. Characterization of the glucose oxidase-immobilized sensor for the detection of glucose. Third repetition. (a) Current vs. time signal response curve to different concentrations of glucose, C1: 0.1 mM, C2: 0.2 mM, C3: 0.2 mM. C4: 0.5 mM, C5: 1.0 mM, C6: 1.0 mM, C7: 1.0 mM, C8: 1.0 mM, C9: 1.0 mM, C10: 9.4 mM (b) Calibration curve for the detection of glucose.
Repetition for lactate sensors
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Figure S6. Characterization of the lactate oxidase-immobilized sensor for the detection of lactate. First repetition. (a) Current vs. time signal response curve to different concentrations of lactate, C1: 0.1 mM, C2: 0.1 mM, C3: 0.1 mM. C4: 0.2 mM, C5: 0.3 mM, C6: 0.2 mM, C7: 1.0 mM, C8: 1.0 mM (b) Calibration curve for the detection of lactate.
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Figure S7. Characterization of the lactate oxidase-immobilized sensor for the detection of lactate. Second repetition. (a) Current vs. time signal response curve to different concentrations of lactate, C1: 0.1 mM, C2: 0.1 mM, C3: 0.1 mM. C4: 0.2 mM, C5: 0.3 mM, C6: 0.2 mM, C7: 1.0 mM, C8: 1.0 mM (b) Calibration curve for the detection of lactate.
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Figure S8. Characterization of the lactate oxidase-immobilized sensor for the detection of lactate. Third repetition. (a) Current vs. time signal response curve to different concentrations of lactate, C1: 0.1 mM, C2: 0.1 mM, C3: 0.1 mM. C4: 0.2 mM, C5: 0.3 mM, C6: 0.2 mM, C7: 1.0 mM, C8: 1.0 mM, C9: 1.0 mM (b) Calibration curve for the detection of lactate.
CVs in the absence of analytes for H2O2 /GOD /LOD sensors
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Figure S9. Cyclic voltammograms of the sensors in the absence of analytes. (a) Cyclic voltammogram of the sensor in buffer; (b) Cyclic voltammogram of the glucose oxidase-immobilized sensor in buffer. (c) Cyclic voltammogram of the lactate oxidase-immobilized sensor in buffer.
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